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QUESTION 1

What are two recommended reasons for configuring a cluster with at least one node in addition to the minimum required
number? (Choose two.)

A. To ensure object accessibility

B. To support the use of RAID-6

C. To provide more flexible storage policy options

D. To provide full protection during maintenance mode operations
E. To support data at rest encryption on vSAN hybrid clusters
Correct Answer: CD

Reference: https://blogs.vmware.com/virtualblocks/2018/05/24/vsan-deployment-considerations/

QUESTION 2

The cluster level backend IOPS performance graph shows a higher-than-average number of IOPS. What is a possible
reason for this?

A. Data resynchronizations

B. Low volume of vSAN vital memory pools
C. DRS invoking multiple vMotion migrations
D. Destaging congestion

Correct Answer: A

Reference: https://kb.vmware.com/s/article/2144493

QUESTION 3

When should an administrator enable Resynchronization Throttling?
A. when a host fails to exit maintenance mode

B. when vSAN host CPU utilization is above 80%

C. when directed by VMware Global Support Services

D. when vSAN datastore free space is less than 20%

Correct Answer: B
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QUESTION 4

What are two reasons why a vCenter Ul can show a Noncompliant status for a VM storage object? (Choose two.)
A. The object is no longer fully compliant with the associated storage policy.

B. A storage hardware failure has caused permanent data loss for the object.

C. The VM storage compliance alarm has been triggered for that object.

D. The object is not associated with a guest VM.

E. The object is not associated with a storage policy.

Correct Answer: AE

QUESTION 5

End-users are complaining that an application running on an all-flash vSAN datastore is not performing well.
Which performance chart should an administrator view to troubleshoot this issue?

A. Recovery Write IOPS

B. Resync Latency

C. Read Cache Read IOPS

D. Write Buffer Free Percentage

Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/vsan-673-monitoring-troubleshootingguide.pdf
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